[bookmark: _GoBack]The female pig had a non-reducible hernia. She had a temperature of 38.1⁰C, a pulse rate of 108bpm, a respiratory rate of 52bpm and a capillary refill time under 2 seconds. She was given an ASA grade of 1.
The male pig had a reducible hernia. He had a temperature of 39⁰C, a pulse rate of 100bpm, a respiratory rate of 40bpm and a capillary refill time under 2 seconds. He was given an ASA Grade of 1.
The female calf had a reducible hernia. She had a temperature of 37.5⁰C, a pulse rate of 48bpm, a respiratory rate of 28bpm and a capillary refill time under 2 seconds. She was given an ASA grade of 2 due to possible presence of an abscess.
